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I MEC-006 I 

isr) MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2018 

MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	Attempt questions from each section as instructed. 

SECTION - A 

Attempt any two questions from this section. 

(Answer in about 500 words each) 2x20=40 

Sketch out the domain of public economics. 

Explain how public intervention tries to influence 

allocation and distribution of societal resources. 

2. Compare and contrast the theory of justice given 

by Rawls and Nozick. Explain how Nozick differs 

from Rawls. 

3. What do you understand by "The problem of 

coordination" in policy process ? Explain reasons 

behind "Coordination failure". 

4. What are the canons of taxation ? How does the 

imposition of a tax distort the allocation of 

resources ? 
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SECTION - B 

Attempt any five questions from this section. 
(Answer in about 300 words each) 	5x12=60 

5. What is fiscal federalism and how are the 
governments organised in a federal country ? 

6. Critically explain the Tiebout Model. 

7. What do you understand by externalities ? 
Distinguish between positive and negative 
externalities. 

8. What are the basic elements of fiscal policy in 
federal countries ? 

9. Ramsey rule can be inegalitarian in case of 
personal income taxes also. Explain with 
examples. 

10. What is the main hypothesis is Downs Economic 
Theory of Democracy ? 

11. What do you mean by free rider problem ? 

12. Differentiate between any two of the following : 
(a) Pareto efficient tax structure and an optimal 

tax system. 
(b) Internal public debt and external public 

debt. 
(c) Public good and private good. 
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